,2/3 v 1974 TRIAL

(a) Find correct to 2 signiﬁcant figures the value of
7.849x(6.27)°
19.863

(b)  Solve A(x-~2)=x+4

() Given A =2nr(r+h), find h correct to one deciminal place, given
A=105, r=32. -

(d)  Make r the subject of
§ = a

Ler.

(e) Factorize x*-38.

Question 2
(a) Evaluate sin 1.7 correct to 2 decimal places.
- 2
®  Simplify =9
sin@cos@

{c) Fred receives a pay rise of 4—;—%. If his new salary is $625/week,

find his wage before the pay increase.

(d) Find the exact value , showing ail working out :
3

i
27 ¥ x9?

(e) Express as a single fraction in simplest form.
2x~-3 x-2
2 5
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Question 3

(a) The points A & B have go-ordinates (2,_(}}'& (:(),*2) respectively.
(i) Draw a diagram, clearly marking A & B

(i)  Find the gradient AB

(iii)  Show the equation of line /, that passes through A & is
perpendicular to AB is givenby x +y = 2.

(iv) Show that C, the point of intersection of ¢ & the y axis has co-
ordinates (0,2) .

V) If D is the point (-2, 0), write down the equation of the circle possing
through A, B, C, D.

(vi)  Show that the area between the circle ABCD & the quadrilateral
Qo ABCD is 4(1t—~2). units?.

®) If o &P are the roots of the equation 3x* - 15x+7 =0, find
i) af i) -1-+-1-.
a B

Question 4.

(a) Differentiate

(1) x +~%~

(i1) 2xe’

(i) En[ u )
. COSX
()  Find jsin 2x dx.

(c) Evaluate the following definite integrals correct to two decimal places.

(1) ¥3x-2 dx

e Eomemny, 13

(i) j(%u) dx
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(a)

S

R

PQRS is a parallelogram. TQ

bisects angle PQR and VS bisects angle PSR.

i) Copy this diagram onto your answer sheet.

it) state why ZPQR= £LPSR

i) Prove that A PVS & A RTQ are congruent.

iv) Hence find the lengthof TV if PR=20cm & TR=8cm.

(b)  The derivative of a function is given by

Question 6
(a)  Consider the function y=+v9—x’
1) State its domain & range
i) On the number plane shade in the region where the following

p(x)=15(5x—1)*
If p(0) =10, find the equation of p(x).

inequalities hold simultaneously :

y<v9—x* and x20.

iti) Does the point (2,-4) lie in this region? Use algebra to justify your
answer.

b) The spinner shown below is used in a game.

It is spun twice & the score recorded after each spin. Find the probability that

1)

i)

in each of the two spins the resultis 4.
the sum of the two spins 13 4.

<) The table below gives the values of f(t) forO0srs2.

{

0

0.5

I

1.5

2

f(Uy

0

0.30

0.37

0.33

0.27

Use the Trapozoidal Rule with 5 function values to evaluate

ff(f 3 dt correct to one decimali place.

%
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(a) Triangle ABC is an acute triangle in which AB = 12 cm,
BC = 9 cm & angle BAC = 47°.

A

12cry

)] Find the size of ZACB, correct to the nearest degree.

(ii)  Fiod the area of AABC. Give your answer correct to 2
Q significant figures.

(b) The first 3 terms of an AP are 50, 43, 36.
(0 Write down the formuia for the n* term for this sequence.

(i) If the last term of the sequence is -27, how many terms are
there in this sequence.

iii) Find the sum of the series.

{©) Find the values of k for which the quadratic equation
x? —(k +3) x+ (k +6) =0 has equal and rational roots.

(a)  For the curve y=(x=2) (x+1).
(1) Find the x and y intercepts.
(iiy  Find the stationary points, if any and determine their nature.
(iii)  Hence, draw a sketch of the curve int the domain

~2< x <3

(b} Find the equation of the tangent to the curve
y= x* +-2-—+4 at the point P(-1,3).
X
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(@)  For the parabola x* =8y find
(1) the focal length -
(i1} the co-ordinates of the focus
(iii)  the equation of the directrix.

(b) A stranded motorist on the Nullabor Plains began walking to the
nearest watering hole that is located 130 km away. Knowing that she
could not cover the entire distance in one day, she planned to walk
75 km the first day & then one third of the previous day's distance each
day thereafter. Will she ever reach the watering hole? Justify your
answer.

(c) For the function f(x)=2cosx
(D State the range of f(x)
(ii) Draw a neat sketchof f(x)=2cosx for 0Sx<2n ‘

(iii)  Calculate the area enclosed between the curve y=2cosx, the
3n

X axis & the lines xmg— & x= 5

(3) In the circle shown arc AB subtends an angle of 8 radians at the
centre, the radius is rcm. , & the perimeter of the sector is 8 cm.

A

B8

{1) Show, step by step, that 6 = §~ -2 & the area of the sector is
r

givenby A=dr—r’.

(i) Hence, find the radius of the sector of maximum area when the
perimeter of the sector AOB is 8 cm.

{iil}  Find the maximum area.

(b} At the beginning of each year for 25 years, Wally invests $2300in a
superannuation fund, on which he is paid [2% p.a. interest.

Find the amount hus investment is worth at the end of the 25th Year,

End of examination
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